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Assunto: Geometria espacial 
 
Calculando o número de cilindros: 
 

Modelo I:  
8 8 40

4 4 6

     
      

     
= 2  2  6 = 24 potes. 

Modelo II:  
8 20 14

4 4 6

     
      

     
= 2  5  2 = 20 potes. 

Modelo III: 
18 5 35

4 4 6

     
      

     
= 4  1  5 = 20 potes. 

Modelo IV: 
20 12 12

4 4 6

     
      

     
= 5  3  2 = 30 potes. 

Modelo V:  
24 8 14

4 4 6

     
      

     
= 6  2  2 = 24 potes. 

 
Ònde [x] representa o maior inteiro menor ou igual a x. 
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